golA HA47E 1 A AR

Q@ 4x+2<-4+4x ©3-x2>-5+x-x2

© x-Ty>2 ® x-4<5-3x

@ 3x—Ty=-12

@ 17 @ 271 @ 374 @ 4 7Y ® 574




1]

ol
™

)
B

o

@ Ox24+0Ox2

D O®x3+0

@ @Ox3-Ox2

® Ox3-0©

® Ox2+0Ox3



ARG y = ax—b o THEA U1 TG LS ), 0, b 9] $TET

yl\

Ry

/ 0]

®a>0,b>0 @ a>0,b<0 ® a<0,b>0
@ a<0,b<0 ®a>0,b=0



4.  —x(2x-3y+3) = A+ Bxy+CxL W, A5 A, B, CY T A+B+C
o 327

® -4 @ -2 @0 @ 2 ® 4



a=2b 4, b2 5toiet
3a2+2b2+a+b
ab a—-b
® -5 @ 0 ® 5 @ 4 ® 10




HEMNpx+1<5x—2987Fx>1< o, » 9 gLe?

D -1 @ 0 ®1 @ 2

® 3



o L
rr do

At F x o ol 2 TE UM W, y o] g2 4 W S0t
°9

pOTAIIeS

®y=1-3x @ y=2x+1 ® y=x+4

1
@ y=-x+6 @y=§x+4



yl

2

NO

Sy






ol

B
il

or
dl
NI
]

(=2, 1), (3, 6)& A}

el

s

® 5

@ 3

® 2



11. L =
the F AT A3} bl A) G e she

D ()2 = a2
@ a®xa?

@axa3 2
2
@a +a +a2+a2



o
S

q_

of 3 ¥e] 4 6 2 o
o AL

&

e
oletil @ ), % 4]

)

Qi)
&

I

o

12.

@ 14 ® 12 @ 11 ® 10

O 15



1] Zo]e]

A7Vl A 7 71 o] ol the

13.

® x>5

@ x>2 ® x>3 @ x>4

D x>1



o 7} (3b, —b) L W, a+b O] FH2?

@1 @ 2 ® 3



